



DEPARTMENT OF MATHEMATICS UNIT II-COMBINATORICS MATI

### MATHEMATICAL INDUCTION

NO

1

### UM+-II Comb9ba tor9cs Pulpuppie of Mathematical Induction: Lot p(n) be a statement or proposetton anvolvang for all possifive integers n. Step 1: P(1) 93 ±7102. Step 2: Agoune that P(K) is true we have to prove that P(K+1) is true. Step 3: problems : I prove that $a + a^a + \dots + a^n = a^{n+1} - a$ by mathematical induction. $\rho(n)$ : $a + a^{a} + \dots + a^{n} = a^{n+1} - a^{n+1}$ Step 1: $P(1) \ddagger a^{1} = a^{1+1} - a^{2}$ = 22-2 = 4-2 a = a:. p(1) 93 ± 91 cle. Step a: Assume that $P(\kappa): \ a^{1} + a^{2} + \cdots + a^{K} = a^{K+1} - a^{K}$ - 2 - G Step 3: TO PROVE P(n+1) is true. A.S. $P(h+i) = a' + a^{a} + \dots + a^{k}$ NOW $= a^{KH} - a + a^{KH}$ = 21. 2KH - 2 = 2<sup>(K+1)+1</sup> - 2 true. .'. p(кн) в is true, 2+2°+. for all n .'. P(n):





DEPARTMENT OF MATHEMATICS

### UNIT II-COMBINATORICS

MATHEMATICAL INDUCTION

165

$$\overrightarrow{all} prove that \stackrel{n}{\underline{\beta}}_{H=1} K^{2} = \frac{p(n+1)(2n+1)}{6}$$
by reactive reartifical Inductions
Let  $p(n): 1^{2} + 3^{2} + 3^{2} + \dots + n^{2} = \frac{p(n+1)(2n+1)}{6}$ 
Step 1:  $p(n): 1^{2} + 3^{2} + 3^{2} + \dots + n^{2} = \frac{p(n+1)(2n+1)}{6}$ 
HH3:  $1\frac{(n+1)(2n+1)}{6} = \frac{2}{6}\frac{(3)}{6} = 1$ 
 $\therefore p(n \sqrt{5} + \frac{1}{2})$ 
Step 2:  $n \sqrt{5}$  prove  $p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 2:  $70 \text{ prove } p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 3:  $70 \text{ prove } p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 3:  $70 \text{ prove } p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 3:  $70 \text{ prove } p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 3:  $70 \text{ prove } p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 3:  $70 \text{ prove } p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 3:  $70 \text{ prove } p(n+1) \sqrt{5} + \frac{1}{2}$ 
Step 4:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 5:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 6:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 6:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 6:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 7:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 7:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 8:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 
Step 9:  $\frac{1}{6}(\frac{1}{6}+\frac{1}{6})$ 

Scanned with CamScanner

DEPT. OF MATHEMATICS





DEPARTMENT OF MATHEMATICS

#### UNIT II-COMBINATORICS

### MATHEMATICAL INDUCTION

3

0

 $= \frac{(k+r) [(k+r)+r] [2(k+r)+r]}{6}$ . P(K++) is true. Hence P(n):  $\sum_{K=1}^{n} K^{a} = \frac{n(n+r)(an+1)}{6} g_{B} \pm \eta ue, \forall n.$ 3] prove that  $1+2+\cdots+n=\frac{n(n+n)}{2}$ 10t  $P(n): 1+2+...+n = \frac{n(n+1)}{2}$ Step 1: LH5 = 1 RH5 =  $\frac{1(1+1)}{2} = \frac{1(2)}{2} = 1$ P(1): : P(1) 93 torue. Step 2: Agsume that  $P(K): 1+2+\dots+K = \frac{K(K+1)}{2} \quad B \pm 3400$ Stop 3: TO PHONE P(K+1) 93 the Now,  $P(H_{H}) = 1 + 2 + \dots + K + K + I$  $= \frac{K(K+1)}{2} + K+1$  $= \frac{H(H+1) + 2(H+1)}{2}$  $= \frac{(H+1)(H+2)}{2}$  $= \frac{(H+1)(H+2)}{2}$  $= \frac{(H+1)[(H+1)+1]}{2}$ ." P(K+1) is torul. :  $P(n): 1+a+...+n = \frac{n(n+1)}{a}$  is the form all n. 4] Show that 8n-3n is a multiple of 5. let p(n): 8<sup>n</sup>-3<sup>n</sup> be a multiple of 5.





#### DEPARTMENT OF MATHEMATICS UNIT II-COMBINATORICS MATI

### MATHEMATICAL INDUCTION

Step 1: P(1): 8'-3'=15 'B a multiple of 15 : p(1) 18 19100. Step &: Assume that P(K): S<sup>K</sup>-3<sup>K</sup> is a multiple of 5, is true  $k_{2}$   $8^{k} - 3^{k} = 5m \Rightarrow 8^{k} = 3^{k} + 5m$ Step 3: TO PSIOVE P(K+1) is tolue. P(K+1) = 8 K+1 - 3 K+1 NOW = 8K.8'-3K.3' =(3<sup>K</sup>+5m)·8-3<sup>K</sup>.3 = 5m. 8+34.8 -3K.3  $= 5m.8 + 3^{k}(8-3)$  $= 5m.8 + 3^{K}.5$ = 5[8m+3k] which is a multiple の与, 大力 P(KH) B true. . P(n): 8n-3n is a multiple of 5, 4n 5]. Use mathematical induction, prove that 3"+7"-& B day 28 ble by 8, for n>1 Let  $p(n): 3^n + 7^n = a$  be deversible by  $\mathcal{B}$ , for  $n \ge 1$ Stop 1: P(1): 31+71-2=3+7-2 =-8 98 dpv9396 by 8, nZ1 P(K): 3K+TK-& B devpseble by 8, n≥1 B±nue. Step 2: Agsume that ie.,  $P(K) = \frac{3^{K} + 7^{K} - 2}{8} = m$  $\Rightarrow 3^{K} + 7^{K} - 2 = 8^{K}$  $\Rightarrow 3^{K} = 8^{K} + 2 - 7^{K}$ Step 3: TO prove P(K++) is true





DEPARTMENT OF MATHEMATICS

#### UNIT II-COMBINATORICS

MATHEMATICAL INDUCTION

NOW P(K+1) = 3 + 7 ++ -2 = 3<sup>K</sup>. 3+7<sup>K</sup>.7-2  $=(8m+a-\tau^{K}), 3+\tau^{H}, \tau-a$ = 24m+6 - 3.7K+ TK.7-2 = &4m+4+TH(7-3)  $= &4m+4+7^{K}.4$  $= 4 (6m + 1 + \tau^{K})$ ,  $m \ge 1, K \ge 1$ : 607+1+7K is an even number. ⇒ 4 (6m+1+7K) B davissible by 8. P(K+1) B true. : P(n) = 3h+7h-2 is deversible by 8, nZI. 6] Prove that  $\frac{1}{1 \cdot 2} + \frac{1}{2 \cdot 3} + \dots + \frac{1}{b(n+1)} = \frac{b}{n+1}$ Let  $p(n): \frac{1}{1 \cdot a} + \frac{1}{a \cdot 3} + \dots + \frac{1}{n(n+1)} = \frac{n}{n+1}$ Step 1: P(1)  $1H5: \frac{1}{1\cdot a} = \frac{1}{a}$  $RH6: \frac{1}{1+1} = \frac{1}{2}$ Step &: pgsume that  $P(K): \frac{1}{1 \cdot 2} + \frac{1}{2 \cdot 3} + \dots + \frac{1}{K(K+1)} = \frac{K}{K+1}$ Step 3: TO prove P(K+1) 93 torce. Now,  $P(KH) = \frac{1}{1 \cdot 2} + \dots + \frac{1}{1 \cdot (K+1)} + \frac{1}{(K+1)(K+2)}$  $= \frac{K}{k(HH)} + \frac{L}{(HH)(H+2)}$  $= \frac{K(H+1)}{(K+2)+1} = \frac{K^{2}+2K+1}{(K+1)(K+2)}$  $= \frac{(k+1)(k+1)}{(k+1)(k+2)} = \frac{k+1}{(k+1)+1}$  is have,  $+\pi$ ) no is divisible 64 3 2.2 × 2 × 4 (+1) × 2 × 4